Honors Alg2/Trig Name
Unit 3 Review

Powers, Roots, and Radicals Block

Write the following in rational exponent notation.

1) V12 2) (V15)° 3) (V)"

Write the following using radical notation.
1 3 2/
5)157/3 6) 107/2 7)57/s

Simplify the following.
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9) /1000 10) V3750
12) (Y64)° 13) (¥0)°
15)1'/3 16) 25 /2
18) 472.4% 19) (5%j6

24) /36 -§/36

27)/6 +3/6

30) 53x + 2Vx

33) x% -x%

36) V49x°

5 [9x6

39) |5r

22) (5% -6%j8
25) {6 - 48
28) 432 - 232

31) y/5 + 4y/s

34) 3512x°h*
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40) 1/81x6y5

4)11
8) 9%/7

11) /972
14) 125°/3
17)16 72
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29) 3/16 + 432

26)

32)Vb — 2Vb
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35) 3/X—3
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38) (4 4’



4
41)9 /2 12) 2% .25 43) (5%)
1
1 10° % FANSAY
44) e 45) ( 6 j 46) (5 -6 j
14% 3 5
47) = 18) Y6 - 39 49) —=
Iy )6 -39 ) %
50) 3/5—43/5 51) 2x3/5 + 5x3/5 52) x% .x%
12 1
53) J144x°b" 54) 3 );—6 55) (y : Y%V

Solve the following equations.

12X =64

4. J3Xx+1=+/x-5
7.U5x-1+8=2
10. 2x-5-10=-9

13. 4x% —g=0

16. 2x 4 = 250

19. 33/;+4 =9
22. 9x% =81

25.\J7x +15=x +3

2. (x+2)% =4

5.

2X—3=X-3

1 2%
8 —x/3=10
3x

11.

14.

17.

20.

23.

26.

J6Xx-5+10=3

2

x+4:\/§
J2x +1+36x =0

x%+2=8

Y3x +7 -4Y2x +1=0

3. (‘/2x +3 :(‘/4x—7

6. (2x+3) ~5=-2

9. 43x +2 =bx +11
12. 3x+40-33x =0

15. %(x+2)% =-18

18.x—4:\/§

21. {3x +2-%2x -7 =0

24. (x + 5)% =-10

27. \/x—2:x/2x +4



